Momentum Change Mini-lab
Objective: Find the difference of momentum of the 2 balls when dropped from a distance of 1 meter.

Procedure: Drop each ball from a meter above desk. Find velocity just before it hit the desk and then find its momentum. Then find the velocity as it bounced back and its momentum. Finally find the difference in momentum of each of the balls.

Materials: One happy ball, one sad ball, a meter stick, a scale, calculater.

Data: 

Mass of Happy Ball:  .00915 kg
Drop Height: 1 meter

Bounce Height:  .7 meters


Mass of Sad Ball: .01 kg
Drop Height: 1 meter

 Bounce Height: 0 meters
Data Analysis:  

Happy Ball:

Final Velocity: 4.43 m/s


Initial Momentum: .04053 kg m/s


Final Momentum: .03386 kg m/s


Difference in Momentum: -.01053 kg m/s

Sad Ball:

Final Velocity: 4.43 m/s

Initial Momentum: .0443 kg m/s


Final Momentum: 0



Difference in Momentum: -.0443 kg m/s

Conclusion: The difference in momentum of the Sad ball was greater than the Happy ball because it didn’t bounce allowing it to come to a complete stop. The Happy ball bounced which allowed a velocity in the opposite direction. 
State the difference quantitatively:  -3 pts.

